	Classic Prisoner Dilemma 

(Prisoner A years in prison, Prisoner B years in prison)
	Prisoner B

	
	Confess
	Don’t confess

	
	A,B
	A,B

	Prisoner A
	Confess
	2,2
	0,6

	
	Don’t confess
	6,0
	4,4


	Classic Class Exercise 

(Team A points, Team B points)
	Prisoner B

	
	Choice X
	Choice Y

	Prisoner A
	Choice X
	3,3
	-6,6

	
	Choice Y
	6,-6
	-3,-3


	Round
	Minutes
	Choice
	Cumulative Points

	
	
	Red Team
	Blue Team
	Red Team
	Blue Team

	1
	3
	
	
	
	

	2
	3
	
	
	
	

	3*
	4
	
	
	
	

	4
	3
	
	
	
	

	5
	3
	
	
	
	

	6**
	4
	
	
	
	

	7**
	4
	
	
	
	


*points doubled

**points squared

	Classic Prisoner Dilemma 

(Prisoner A years in prison, Prisoner B years in prison)
	Prisoner B

	
	Confess
	Don’t confess

	
	A,B
	A,B

	Prisoner A
	Confess
	2,2
	0,6

	
	Don’t confess
	6,0
	4,4

	
	Expected Values
	1
	5


	Class Warm-up Exercise 

(Team A points, Team B points)
	Prisoner B

	
	Choice X
	Choice Y

	Prisoner A
	Choice X
	3,3
	-6,6

	
	Choice Y
	6,-6
	-3,-3

	
	Expected Values
	-1.5
	-1.5


